
Algorithms

Recursion
(part 2)



Recaps :
- HWO due tonight - in agroup

!

- Reading due tomorrow(S comments now
! )

- Next HW Cover recursion)
is posted , as well as
next v2 weeks of reading
↳due next wed .

3 question
HWI Groups up

- Questions?
-Set office hours

by Friday



today : Recurrences !
(They really de

have a purpose!)
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Quicksort practicalities
Note :

"Median of three
"

- Somewhat better can SHH
be good !
Remember
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,
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Reasoning : TCH -

-31TE)tk
Let's start with an example .
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Cont : Solve Tcn) , where
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Sum of all work in tree
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Note on reading-.

If you
don't follow the bit

on ignoring floors
& ceilings -

don't stress !

I need you to know you
care do this , but won't
ask you to prove

it
.

Ex: discussion on domain transformakon

Tcn) --THEMEDton)



Next reading : how to generalize?
Tcn) = RITZ) tfCn )

whet it means :

Algorithm Cn) :
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Solving


